

BID BULLETIN 01

Date: 28 November 2022

Project Title: Supply and Delivery of Office and Janitorial Supplies and Other General

Merchandise Products (VSU-GOODS-23-05)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
Technical Documents	Time El G Geranica de Regionation (Flatinam)
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 291,435.50)
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 291,435.50 and the largest of which should be at least PhP 145,717.75 .
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies)
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 1,165,742.00)
	Or
	Committed Line of Credit (at least Php 116,574.20)
(2 nd Envelope) FINANCIA	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form
13	Original of duly signed and accomplished Price Schedule(s)



Please take note:

- 1. In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of **manufacturer's un-amended sales literature (Data Sheets)**, **unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model** as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of **ITB** Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).
- 2. Bidders are advised to use the latest GPPB forms for the following documents:
 - a) Omnibus Sworn Statement
 - b) Performance Securing Declaration (if applicable)
 - c) Price Schedule for Goods Offered
 - d) Bid Form
 - e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Convert all documents into Portable Document Format (PDF) and should be printable.
- 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government	Statement of On-Going
	& Private Contracts	Contracts
3.	Statement of Bidder's Single Largest	SLCC
	Completed Contract	3200
4.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7.	SCHEDULE of Requirements/	Schedule of Requirements
8.	Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC



15. Bid Form	Bid Form
16. Price Schedule	Price Schedule

3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at <u>jessamine.ecleo@vsu.edu.ph</u> before the deadline.

III. Changes in the Bidding Documents

Original

Section I. Invitation to Bid

5. A complete set of Bidding Documents may be acquired by interested Bidders on 14 November – 06 December 2022 until 9:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

(Amendment)

A complete set of Bidding Documents may be acquired by interested Bidders on 14 November – 06 December 2022 until 9:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means:

The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details:

Account Name: Visayas State University Fund

164

Account Number: 3572-1000-13

Then send the deposit slip to <u>jessamine.ecleo@vsu.edu.ph</u>



Section II. Instructions to Bidders

15. Sealing and Marking of Bids

(Additional Instructions)

Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.

For filing purposes, the bidders are urged to use **Light Green** envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

Item No.	Description	Unit	Qty	ABC/Unit	Total ABC
1	5-Tier File Rack Metal Mesh Stackable Letter Tray Scratch-Resistant Magazine Letter Paper Document Home Office Desk Supplies	unit	6	400.00	2,400.00
	Description:				
	Put the expansion screw into the pipe, then press it into the workbench, do not hit				
	2. Screw in the side frame, note: the groove on the side rail is facing inwards				
	3. Screw into the other side of the frame				
	4. Put in the file tray				
	This four-layer file holder keeps working efficiently. Exquisite black surface and metal mesh design for any office interior. With this				
	ambience, you can work comfortably.				
	Specifications:				
	material: iron				
	Colour: Black				
2	7 in 1 set Office Supplies Organizer	unit	9	300.00	2,700.00
	■Packing: 1 X 1pc storage rack				
	⊚ Color: black				
	■Size: 22cm x 14cm x 12.7cm				
	■Material: stainless steel + metal mesh				
	■Design: 7in1 metal grid with drawer				
	■Suitable for: pens, school supplies, cosmetics, remote control, etc.				
	Features:				
	1. With classification, finishing functions				
	2. Simple and Beautiful				
	3. Suitable for Offices, Schools, Factories, etc.				
	4. Large Capacity				
	5. Multi-functional				
	6. Can Put Pens, Cards, etc.				
3	A4 Matte Photo Paper	packs	9	70.00	630.00
	■20 sheets per pack; 140 gsm; double-side				



4	A4 Photo Paper	packs	8	150.00	1,200.00
	No Backprint, No Back Print Photopaper				
	Photopapers				
	Size: A4 (8.25in x 11.75in)				
	Content: 20 Sheets / pack				
	Thickness: 230gsm				
	Kind: Gloss				
5	Absorbent Cotton, 400 g	packs	1	300.00	300.00
6	Acetate, transparent, gauge #4, approx. 50m/roll	rolls	5	1,400.00	7,000.00
7	Acetate, transparent, guage #6, approx. 50m/roll	rolls	1	1,525.00	1,525.00
8	Acetate, transparent, guage #8, approx. 50m/roll	rolls	2	2,940.00	5,880.00
9	Air Freshener, Scented Gel, at least 180g, Lemon/Orange Scent	pcs	77	192.00	14,784.00
10	Alchol, Isopropyl, 70% solution, 500mL, pump type	btls	49	250.00	12,250.00
11	Alcohol, Rubbing, 70% Isoprophyl, 1ltr.	btls	5	200.00	1,000.00
	Approved Stamp with Date Line and				•
12	Signature Line (BLUE)	pcs	2	320.00	640.00
	-With Date Line; -With Signature Line;				
13	Basin, Utility, Durable Plastic, Size: at least 15cm depth x 40.5cm diameter, any Color	pcs	1	205.00	205.00
14	Basin, Utility, Durable Plastic, Size: at least 17cm depth x 50cm diameter, any Color	pcs	2	290.00	580.00
15	Bathroom Deodorizer, with holder, at least 100g, any scent	pcs	69	80.00	5,520.00
16	Battery, Alkaline, 9 volts	pcs	24	202.00	4,848.00
17	Battery, Alkaline, Size: C, 2pcs/pack	pack	25	95.00	2,375.00
18	Battery, Rechargeable, 9 volts	pcs	1	600.00	600.00
19	Battery, Rechargeable, Nickel-Metal Hydride, Size: AA, 2 pcs/pack	pack	6	785.00	4,710.00
20	Battery, Rechargeable, Nickel-Metal Hydride, Size: AAA, 2 pcs/pack	pack	5	785.00	3,925.00
21	Bleach Lemon 250mL/btl	btls	31	16.00	496.00
22	Bleach Original 250ml/bottle	btls	20	16.00	320.00
23	Bleach, Liquid, 99.9% Antibacterial, Disinfectant, at least 3785 mL	gallon	21	450.00	9,450.00
24	Board, Illustration, 20" x 30" (2 Ply)	pcs	10	30.00	300.00
25	Board, Illustration, 30" x 40" (2 Ply)	pcs	10	56.00	560.00
26	Broom	рс	3	100.00	300.00
	Multifunctional Magic Broom Clean Floor Surface Remove Dirt Hair Household Silicone Mop FREE MOUNT	F 3			230.00
27	Broom and Dustpan Set	set	2	600.00	1,200.00
28	Broom, Plastic, with long steel handle (approx. 140cm), for ceiling	pcs	11	420.00	4,620.00
29	Cable Tie, 8", 100 pcs/pack	packs	10	110.00	1,100.00
	2.5 x 200mm (Width x length);	Facilo		1.0.00	.,.55.56
30	Calculator, scientific ,10+2 digits, 2 line display, at least 240 functions	unit	2	1,350.00	2,700.00
31	Car Freshener, Gel, at least 70g, Lemon/Orange scent	cans	4	180.00	720.00
32	Carbon Paper, ordinary, Letter, 100 pcs/box	boxes	2	135.00	270.00
33	Cartolina, US, Black, at least 160gsm	pcs	22	14.00	308.00
34	Cartolina, US, Blue, at least 160gsm	pcs	12	14.00	168.00
35	Cartolina, US, Brown, at least 160gsm	pcs	2	14.00	28.00
36	Cartolina, US, Gold, at least 160gsm	pcs	2	14.00	28.00
		P 00		1 1.00	20.00



		1		4400	400.00
37	Cartolina, US, Green, at least 160gsm	pcs	30	14.00	420.00
38	Cartolina, US, Light Blue, at least 160gsm	pcs	2	14.00	28.00
39	Cartolina, US, Light Green, at least 160gsm	pcs	2	14.00	28.00
40	Cartolina, US, Neon Blue, at least 160gsm	pcs	3	14.00	42.00
41	Cartolina, US, Neon Green, at least 160gsm	pcs	12	14.00	168.00
42	Cartolina, US, Neon Orange, at least 160gsm	pcs	2	14.00	28.00
43	Cartolina, US, Neon Red, at least 160gsm	pcs	2	14.00	28.00
44	Cartolina, US, Orange, at least 160gsm	pcs	2	14.00	28.00
45	Cartolina, US, White, at least 160gsm	pcs	45	14.00	630.00
46 47	Cartolina, Vellum, Gold, at least 180gsm	pcs	7	35.00	245.00
48	Cartolina, Vellum, White, at least 180gsm Casserole with lid, Aluminum, 34cm diameter	pcs	5	35.00	175.00
40	good quality and durable;	pcs	2	700.00	1,400.00
49	Cereal Plate	nc	6	200.00	1,200.00
73	5 inches in diameter	рс	0	200.00	1,200.00
	Plain white, smooth/plain edge				
	No design or print				
	Microwave safe			+	
50	Certificate Holder (A4)	pcs	172	64.00	11,008.00
51	Chalk, Colored, Dustless, 12 pcs/box	boxes	2	20.00	40.00
52	Chlorine Granules, 1kg/pack	packs	4	185.00	740.00
	Class Record (School Register), Long,				
53	DepEd (K-12)	pcs	10	60.00	600.00
54	Cleaner, Glass, 500mL, spray type, any scent	btls	35	200.00	7,000.00
55	Clear Packaging Tape, 2"	piece	2	80.00	160.00
56	Clip Board, Plastic, with PVC Cover, A4, any color	pcs	2	198.00	396.00
57	Clip Board, Plastic, with PVC Cover, Long, any color	pcs	2	222.00	444.00
58	Clip, Double Binder, 1-5/8" (approx. 41mm), Black, 12 pcs/box	boxes	78	46.00	3,588.00
59	Clip, Metal Bulldog, 1-1/2" (approx. 38.1mm), 12 pcs/box	boxes	9	55.00	495.00
60	Clip, Metal Bulldog, 2" (approx. 50.8mm), 12 pcs/box	boxes	13	76.00	988.00
61	Clip, Metal Bulldog, 2-1/2" (approx. 63.5mm), 12 pcs/box	boxes	9	143.00	1,287.00
62	Clip, Metal Bulldog, 3" (approx. 76.2mm), 12	boxes	4	192.00	768.00
63	pcs/box Coffee Maker Machine, Touch-Screen 10- cups Programmable with Glass Carafe,	200	4	2 200 00	0.200.00
	Stainless Steel	pc	4	2,300.00	9,200.00
64	Coffee/Tea Mug with Saucer Plate	set	4	550.00	2,200.00
	7 oz or 210ml Set of 6			-	
	Porcelain			+	
	Plain white				
	All must be uniform in color, size, and style			+	
65	Computer/Paint Brush, 1.5"	piece	13	25.00	325.00
	Concentrate Antibac Dishwashing Liquid				
66	with Power Of Safeguard refill, 375ml	pack	5	150.00	750.00
67	Continuous Forms, Carbonless, 11 x 14-7/8, 2 Ply	boxes	4	1,855.00	7,420.00
68	Continuous Forms, Carbonless, 13 x 9-1/2, 2 Ply	boxes	6	1,484.00	8,904.00
69	Cork Board, Wall Mount, w/ aluminum frame, 3' x 4'	pcs	1	1,640.00	1,640.00
70	Correction Fluid, waterbase, 15 mL	btl	5	40.00	200.00
71	Correction Pen, rolling ball-metal tip	рс	9	220.00	1,980.00
					,

Bidding No.: VSU-GOODS-23-05 Bidding Title: Supply and Delivery of Office and Janitorial Supplies and Other General Merchandise Products Location of the Project: VSU Main, Visca, Baybay City Leyte

		T			
72	Cotton, 10-12g	рс	7	10.00	70.00
	Absorbent Cotton; White				
73	Cotton, 400g	packs	12	300.00	3,600.00
	Cutter, Big, durable & light aluminum die-				
74	cast grip, auto-lock slider, built-in blade	pcs	4	520.00	2,080.00
	snapper, approx. 3x8x22cm (Heavy Duty)				
75	Cutter, Big, Plastic (Ordinary), w/ lock	pcs	17	30.00	510.00
76	Cutting Mat, self-healing rubber, green, A3	рс	1	700.00	700.00
77	Cutting Mat, self-healing rubber, green, A4	рс	1	220.00	220.00
78	Date stamp, 10 years advance or more	pcs	1	195.00	195.00
	Date stamp, rubber, self-inking, with dater	Poo			
79	and custom text, 1" x 1-5/8"	рс	3	900.00	2,700.00
	Deodorizer (Paradichlorobenzene) Lemon,				
80	Refill 100g	pcs	5	50.00	250.00
	Desk Tray, Metal, Double, Black, Dimension:				
81		pcs	2	500.00	1,000.00
	approx. 18 x 25 x 38cm	· ·			
82	Desk Tray, Metal, Triple, Black, Dimension:	pcs	4	820.00	3,280.00
	approx. 30 x 25 x 38cm	'			,
83	Desk Tray, Plastic, Double, Dimension:	pcs	2	310.00	620.00
	approx. 6 x 26 x 35cm, any color				
84	Detergent Soap, Powder, 500g	packs	6	60.00	360.00
	Detergent Soap Powder with Antibacterial,				
	500g;				
85	Dishwashing Liquid Soap, Refill 350ml	pack	34	120.00	4,080.00
	Concentrated Dishwashing Liquid Antibac with				
	Power of Safeguard, 350ml				
86	Disinfectant Cleaner, multi-surface, scented	gal	29	420.00	12,180.00
87	Document Storage Box / Document Filing	200	4	252.00	1 000 00
01	Case, plastic, transparent, A4 (30.7x23.2cm)	pcs	4	252.00	1,008.00
	Document Storage Box / Document Filing				
88	Case, plastic, transparent, Legal	pcs	7	445.00	3,115.00
	(36x27x4.5cm)				,
89	Document Tray	рс	5	550.00	2,750.00
	Letter tray2 tier Black				,
	Double Sided Glossy Photo Paper A4		_		
90	(50sheets per pack)	pack	2	150.00	300.00
	Double Sided Glossy Photo Papers are ideal				
	when it comes to printing photos, with both sides				
	of the paper specially coated which gives prints				
	that maximum shiny finish and vividness that are				
	true to the image. These photo papers doesn't				
	wrinkle or curl during printing and with a nice				
	winkle of curr during printing and with a frice weight added to it. These are available in A4 &				
	A3 size and in different paper thickness.				
	Paper Size - A4				
	Number of Sheets - 50				
	Paper Texture - Glossy				
	Paper Grammage - 220gsm				
91	Dust Bin (Trash Bin), durable plastic, w/	pcs	3	1,400.00	4,200.00
	cover, wheels and lock, approx. 80L capacity	700		., 100.00	.,200.00
92	Dust Bin (Trash Bin), durable plastic, w/	pcs	20	240.00	4,800.00
32	swing-type cover, approx. 15L capacity	700	20	2-10.00	7,000.00
93	Dust Bin (Trash Bin), durable plastic, w/	pcs	14	300.00	4,200.00
	swing-type cover, approx. 25L capacity	pus	14	300.00	7,200.00
94	Dust Bin (Trash Bin), durable plastic, w/	noc	7	520.00	3 640 00
34	swing-type cover, approx. 50L capacity	pcs	'	5∠0.00	3,640.00
95	Dust pan, plastic, stand-up handle, large	рс	21	140.00	2,940.00
96	Dust pan, plastic, stand-up handle, small	рс	25	75.00	1,875.00
97	Duster, Feather	pcs	13	56.00	728.00
		•	9	102.00	918.00
98	Duster, Microfiber (Cotton)	pcs	. 4	11171111	Q IX IIII



99	Empty Water Bottle (5 gallon), round, blue	рс	3	190.00	570.00
100	Envelope, Coin, #4, 500pcs/box	box	10	200.00	2,000.00
101	Envelope, Expanding, Kraft board, w/ garter tie, Legal	pcs	10	14.00	140.00
102	Envelope, Expanding, Plastic, Accordion file, w/ 12 pockets, w/ handle (Long)	pcs	1	396.00	396.00
103	Envelope, Expanding, Plastic, Long, with Handle	pcs	6	100.00	600.00
104	Envelope, Expanding, with garter tie, blue, long	рс	261	15.00	3,915.00
105	Envelope, Expanding, with garter tie, brown, long	рс	115	15.00	1,725.00
106	Envelope, Expanding, with garter tie, brown, short	рс	10	11.00	110.00
107	Envelope, Expanding, with garter tie, golden yellow, short	рс	48	11.00	528.00
108	Envelope, Expanding, with garter tie, green, long	рс	211	15.00	3,165.00
109	Envelope, Expanding, with garter tie, red, short	рс	50	11.00	550.00
110	Envelope, Expanding, with garter tie, violet, long	рс	50	15.00	750.00
111	Fabric Conditioner, 1L, any scent	btls	7	415.00	2,905.00
112	Fabric Conditioner, 4L, any scent	gallon	5	1,210.00	6,050.00
113	Fabric Conditioner, Antibacterial, Refill, 1.5L, any scent	pack	7	330.00	2,310.00
114	Face Mask, Surgical, Disposable, 3-ply, 50 pcs/box	boxes	30	150.00	4,500.00
115	Facial Tissue 1 Ply 14 x 9 Cm	boxes	20	125.00	2,500.00
116	Facial Tissue 3-Ply 260 Pulls	packs	2	150.00	300.00
	8 per packs				
117	Fastener, Paper, plastic, 50 sets/box	boxes	220	38.00	8,360.00
118	Fiber Doormat	рс	12	150.00	1,800.00
	at least 15 X 23 inches;				
119	First Aid Box or Medicine Cabinet	рс	3	800.00	2,400.00
	Wall mounted				
	Material: Plastic				
	Color: Red and white combination				
	Cabinet style with easy open hook				
	With transparent plastic door				
	High quality plastic				
	At least 36 x 29 x11 cm in dimension				
120	First Aid Kit Set (Medical Bag)	set	1	800.00	800.00
	1x Tube 15gm Burn Ointment				
	1x pc. Elastic Bandage 3x 5				
	1x pc. Digital Thermometer				
	1x pc. Rechargeable Flashlight				
	1x pc. Whistle				
	2x pcs. Exam or Latex Gloves				
	4x pcs. Gauze pad 4x4 1x bot 10ml Ammonia Spirit				
	1x bot Torni Ammonia Spirit 1x bot 10ml Povidone Iodine				
	1x bot 10/11 Povidone Idaine 1x bot 60ml 70% Isopropyl Alcohol				
	1x pack Cotton balls 50's				
	1x pack Collon balls 50 s 1x pc. Surgical Tape				
	1x pc. Surgical Tape 1x pc. Bandage Scissor				
	1x pc. Bandage Scissor 1x pc. Triangular Bandage				
	1x pc. Triangular bandage 1x pc. First Aid Kit Bag				
121	Flashlight, heavy duty, w/ chargeable battery,	nce	7	2,625.00	18,375.00
141	i idaningin, neavy duty, wi chargeable battery,	pcs	1	۷,025.00	10,373.00



Flashight, rechargeable, LED, 220-240V S0/60Hz, duration time: 10 hrs (low torch), 2.5 hrs (nigh torch) Plastic, with handle, heavy duty; Plashight, with handle, heavy duty; Plashight, with handle, heavy duty; Plastic, with handle, heavy duty Plastic, with handle, heavy duty; Plastic, with handle, hea		3 battery capacity, 1.5 v D type				
122 S0/66Hz, duration time: 10 hrs (low torch), 2.5 pcs 2 1,675.00 3,350.00 123 Floor Mop plastic, with handle, heavy duty; 124 Floor mop with bucket, microfiber spin rotating 360 125 Floor Mop with wooden handle, heavy duty pcs 5 240.00 1,200.00 126 Floir, Mop with wooden handle, heavy duty pcs 5 240.00 1,200.00 127 Folder, Expanded, Long (Light Blue) pcs 430 20.00 8,600.00 128 Folder, Expanded, Long (Light Blue) pcs 430 20.00 8,600.00 129 Folder, Expanded, Long (Light Blue) pieces 20 18.00 360.00 120 Folder, Morocco, Long, w/ plastic binder, Blue pieces 20 18.00 360.00 130 Folder, Morocco, Long, w/ plastic binder, Blue pieces 120 18.00 2,160.00 131 Folder, Morocco, Long, w/ plastic binder, Brown pieces 30 18.00 540.00 132 Folder, Morocco, Long, w/ plastic binder, Brown pieces 30 18.00 540.00 133 Folder, Morocco, Long, w/ plastic binder, Blue pieces 40 18.00 720.00 134 Folder, Morocco, Long, w/ plastic binder, Blue pieces 30 15.00 450.00 135 Folder, Morocco, Long, w/ plastic binder, Blue pieces 30 15.00 450.00 136 Folder, Pressboard, A4, US Green, Double pcs 100 40.00 4.000.00 137 Folder, Pressboard, Long, Brown with Plastic pcs 100 40.00 4.000.00 138 Folder, Pressboard, US, Green, Long pieces 310 30.00 9.300.00 139 Folder, Pressboard, US, Green, Short pcs 45 29.00 1,350.00 140 Folder, Pressboard, US, Green, Long pcs 1339 30.00 40.070.00 141 Folder, Pressboard, US, Green, Short pcs 45 29.00 1,350.00 142 Folder, Pressboard, US, Green, Long pcs 339 30.00 40.00 143 Folder, Pressboard, US, Green, Long pcs 30.00 30.00 90.00 144 Folder, Pressboard, US, Green, Long pcs 100 40.00 40.00 145 Folder, Pressboard, US, Green, Long pcs 100 40.00 40.00 146 Folder, Pressboard, US, Green, L						
hrs (high torch)	400			•	4 075 00	0.050.00
Place Plac	122		pcs	2	1,675.00	3,350.00
Floor mop with bucket, microfiber spin pc 2 1,500.00 3,000.00 126 Floor Mop with wooden handle, heavy duty pcs 5 240.00 1,200.00 127 Folder, Expanded, Long (Light Blue) pcs 430 20.00 3,000.00 12,000.00 127 Folder, Expanded, Long (Light Blue) pcs 430 20.00 3,600.00 12,000.00 12,	123		pieces	6	250.00	1,500.00
125 Floor Mop with wooden handle, heavy duty pcs 5 240.00 1,200.00 126 Foit, Aluminum, 16m x 30cm (approx. 260g) boxes 7 290.00 2,030.00 127 Folder, Expanded, Long (Light Blue) pcs 430 20.00 8,600.00 128 Folder, Expanded, Long (Red) piece 400 30.00 3600.00 129 Folder, Morocco, Long, w/ plastic binder, pieces 20 18.00 3600.00 130 Blue pieces 20 18.00 3600.00 131 Folder, Morocco, Long, w/ plastic binder, pieces 120 18.00 2,160.00 132 Folder, Morocco, Long, w/ plastic binder, pieces 30 18.00 540.00 133 Folder, Morocco, Long, w/ plastic binder, pieces 30 18.00 720.00 134 Folder, Morocco, Long, w/ plastic binder, pieces 30 18.00 720.00 135 Folder, Morocco, Long, w/ plastic binder, pieces 30 18.00 720.00 136 Folder, Poresboard, A4, US Green, Double pcs 100 40.00 4,000.00 137 Folder, Pressboard, US, Green, Double pcs 100 40.00 4,000.00 138 Folder, Pressboard, US, Green, Long pieces 310 30.00 9,300.00 139 Folder, Pressboard, US, Green, Long pieces 310 30.00 9,300.00 139 Folder, Pressboard, US, Green, Long pieces 310 30.00 9,300.00 140 Folder, Pressboard, US, Green, Long pieces 3130 30.00 9,300.00 141 Folder, Pressboard, US, Green, Long pieces 3130 30.00 9,300.00 142 Transparent pcs 45 29.00 1,305.00 143 Folder, Pressboard, US, Green, Long pieces 30 30.00 9,000.00 144 Folder, Pressboard, US, Green, Long pieces 30 30.00 9,000.00 145 Folder, Pressboard, US, Green, Long pieces 30 30.00 9,000.00 146 Folder, Pressboard, US, Green, Long pieces 30 30.00 9,000.00 147 Folder, Pressboard, US, Green, Long pieces 30 30.00 9,000.00 148 Folder, Pressboard, US, Green, Long pieces 30 30.00 9,000.00 149 Folder, Pressboard, US, Green, Long pieces 30 30.00 0,000.00 140 Folder,		plastic, with handle, heavy duty;				
Totaling 360 Tota	124	Floor mop with bucket, microfiber spin	no	2	1 500 00	3 000 00
Folder, Expanded, Long (Light Blue)	124	rotating 360	ρC	2	1,500.00	3,000.00
Folder, Expanded, Long (Red) piece 400 30.00 12,000.00	125	Floor Mop with wooden handle, heavy duty	pcs	5	240.00	1,200.00
Folder, Expanded, Long (Red) piece 400 30.00 12,000.00	126	Foil, Aluminum, 16m x 30cm (approx. 260g)	boxes	7	290.00	2,030.00
Folder, Morocco, Long, w/ plastic binder, Beige Polder, Morocco, Long, w/ plastic binder, Beige Polder, Morocco, Long, w/ plastic binder, Beige Polder, Morocco, Long, w/ plastic binder, pieces 20 18.00 360.00	127		•	430	20.00	
Folder, Morocco, Long, w/ plastic binder, Beige			_			
Beige						
Folder, Morocco, Long, w/ plastic binder, Blue	129		pieces	20	18.00	360.00
Solution						
Tolder, Morocco, Long, w/ plastic binder, Brown	130		pieces	20	18.00	360.00
Brown						
Folder, Morocco, Long, w/ plastic binder, Gold	131		pieces	120	18.00	2,160.00
Folder, Nerseboard, US, Green, Long Piece Piece						
Folder, Morocco, Long, w/ plastic binder, Light Blue	132		pieces	30	18.00	540.00
133 Light Blue Folder, Norocco, Short, w/ plastic binder, Blue Pieces 30 15.00 450.00 135 Folder, Pressboard, A4, US Green, Double Fold Polder, Pressboard, Long, Brown with Plastic cover Polder, Pressboard, Long, Brown with Plastic cover Polder, Pressboard, US, Blue, Long Pieces 310 30.00 9,300.00 137 Folder, Pressboard, US, Blue, Long Pieces 310 30.00 9,300.00 138 Folder, Pressboard, US, Green, Long Pieces 1339 330.00 40,170.00 139 Folder, Pressboard, US, Green, Short Piece Pressboard, US, Vellow, Long Pieces 30 30.00 900.00 140 Folder, Pressboard, US, Vellow, Long Pieces 220 30.00 6,600.00 141 Folder, Pressboard, US, Vellow, Long Pieces 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, Transparent Piece 156 10.00 1,560.00 143 Folder, Sliding, Plastic, w/ binder, Long, transparent Piece 156 10.00 1,560.00 144 Folder, Sliding, Plastic, w/ binder, Short, transparent Piece 156 10.00 970.00 145 Frame, for certificates, A4 size Piece Piece 24 9.00 216.00 146 Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen Piece 2 300.00 600.00 147 Glass Wiper Piece 2 300.00 600.00 148 Glue Gun, Big (approx. 7x18x 28cm) Piece 2 300.00 500.00 150 Glue Stick, All-purpose, at least 21g Piece 70 10.00 700.00 151 Glue Stick, All-purpose, tleast 21g Piece 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g tills Piece 70 10.00 700.00 153 Glue, White, All-purpose, 1 gallon Piece 10 35.00 5,000.00 156 Hand Sprayer, plastic, 300 ml cap. Piece 10 35.00 5,000.00 156 Hand Towel, cloth, cotton Piece 10 35.00 665.00 156 Hand Towel, cloth, cotton Piece 10 35.00 665.00 156 Hand Towel, cloth, cotton Piece 10 93.500 665.00 157 France, force of the fier of the piece 10 150.	-				-	
134 Folder, Morocco, Short, w/ plastic binder, Blue pieces 30 15.00 450.00 135 Folder, Pressboard, A4, US Green, Double Fold pcs 100 40.00 4,000.00 136 Folder, Pressboard, Long, Brown with Plastic cover pcs 20 20.00 400.00 137 Folder, Pressboard, US, Blue, Long pieces 310 30.00 9,300.00 138 Folder, Pressboard, US, Green, Long pcs 1339 30.00 40,170.00 139 Folder, Pressboard, US, Green, Short pcs 45 29.00 1,305.00 140 Folder, Pressboard, US, Long, Pink/Maroon piece 30 30.00 900.00 141 Folder, Pressboard, US, Yellow, Long pieces 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, Transparent piece 156 10.00 1,560.00 143 Folder, Sliding, Plastic, w/ binder, Long, transparent pcs 97 10.00 970.00 144 Folder, Sliding, Plastic, w/ binder, Short, transparent pcs 24 9.00 216.00 145 Frame, for certificates, A4 size pcs 20 380.00 7,600.00 146 Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen piece 2 300.00 600.00 147 Glass Wiper piece 2 300.00 600.00 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, Ali-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g tills 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 156 Hand Sprayer, plastic, 300 ml cap. piece 19 35.00 665.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00 157 Tanker Tanker	133		pieces	40	18.00	720.00
134 Blue						
135	134	· · · · · · · · · · · · · · · · · · ·	pieces	30	15.00	450.00
Folder, Pressboard, Long, Brown with Plastic cover pcs 20 20.00 40.0			'			
Folder	135		pcs	100	40.00	4.000.00
137 Folder, Pressboard, US, Blue, Long pieces 310 330.00 9,300.00 138 Folder, Pressboard, US, Green, Long pcs 1339 30.00 40,170.00 139 Folder, Pressboard, US, Green, Short pcs 45 29.00 1,305.00 140 Folder, Pressboard, US, Long, Pink/Maroon piece 30 30.00 900.00 141 Folder, Pressboard, US, Yellow, Long pieces 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, piece 156 10.00 1,560.00			F * *			.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
137 Folder, Pressboard, US, Blue, Long pieces 310 30.00 9,300.00 138 Folder, Pressboard, US, Green, Long pcs 1339 30.00 40,170.00 139 Folder, Pressboard, US, Green, Short pcs 45 29.00 1,305.00 140 Folder, Pressboard, US, Long, Pink/Maroon piece 30 30.00 900.00 141 Folder, Pressboard, US, Yellow, Long piece 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, Transparent piece 156 10.00 1,560.00 143 Folder, Sliding, Plastic, w/ binder, Long, transparent pcs 97 10.00 970.00 144 Folder, Sliding, Plastic, w/ binder, Short, transparent pcs 24 9.00 216.00 145 Frame, for certificates, A4 size pcs 20 380.00 7,600.00 Hard border, with color black or brown color. Glass type.; Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen piece 2 300.00 600.00 147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber Color: Random Color Size: 30 (cm)* 19* (cm) x 7.5 (cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00 157 Cotton Pressboard, US, Green, Short pcs 10 150.00 150.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00 157 Cotton Pressboard, US, Corp. Popc 10 150.00 150.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00 157 Cotton Pressboard, US, Cotton Pressboard, US, Cotton Pressboard, US, C	136		ncs	20	20.00	400 00
138 Folder, Pressboard, US, Green, Long pcs 1339 30.00 40,170.00 139 Folder, Pressboard, US, Green, Short pcs 45 29.00 1,305.00 140 Folder, Pressboard, US, Long, Pink/Maroon piece 30 30.00 900.00 141 Folder, Pressboard, US, Yellow, Long pieces 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, Transparent piece 156 10.00 1,560.00 143 Folder, Sliding, Plastic, w/ binder, Long, transparent pcs 97 10.00 970.00 144 Folder, Sliding, Plastic, w/ binder, Short, transparent pcs 24 9.00 216.00 145 Frame, for certificates, A4 size pcs 20 380.00 7,600.00 146 Gas Lighter Igniter Refillable Butane Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen piece 2 300.00 600.00 147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber Color: Random Color Size: 30 (cm)* 19 * (cm) x 7.5 (cm) pcs 6 355.00 2,130.00 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 156 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00			·			
139 Folder, Pressboard, US, Green, Short pcs 45 29.00 1,305.00 140 Folder, Pressboard, US, Long, Pink/Maroon piece 30 30.00 900.00 141 Folder, Pressboard, US, Yellow, Long pieces 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, piece 156 10.00 1,560.00 143 Folder, Sliding, Plastic, w/ binder, Long, transparent pcs 97 10.00 970.00 144 Folder, Sliding, Plastic, w/ binder, Short, transparent pcs 24 9.00 216.00 145 Frame, for certificates, A4 size pcs 20 380.00 7,600.00 Hard border, with color black or brown color. Glass type.; Gas Lighter Igniter Refillable Butane Gas			pieces			
140 Folder, Pressboard, US, Long, Pink/Maroon piece 30 30.00 900.00 141 Folder, Pressboard, US, Yellow, Long pieces 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, Transparent Piolder, Sliding, Plastic, w/ binder, Long, transparent pcs 97 10.00 970.00 143 Folder, Sliding, Plastic, w/ binder, Long, transparent pcs 24 9.00 216.00 144 Folder, Sliding, Plastic, w/ binder, Short, transparent pcs 24 9.00 216.00 145 Frame, for certificates, A4 size pcs 20 380.00 7,600.00 146 Hard border, with color black or brown color. Glass type; Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen piece 2 300.00 600.00 147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber Color: Random Color Size: 30 (cm)* 19 * (cm) x 7.5 (cm) pcs 6 355.00 2,130.00 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00			pcs	1339	30.00	
141 Folder, Pressboard, US, Yellow, Long pieces 220 30.00 6,600.00 142 Folder, Sliding, Plastic, w/ Binder, A4, Transparent piece 156 10.00 1,560.00 143 Folder, Sliding, Plastic, w/ binder, Long, transparent pcs 97 10.00 970.00 144 Folder, Sliding, Plastic, w/ binder, Short, transparent pcs 24 9.00 216.00 145 Frame, for certificates, A4 size pcs 20 380.00 7,600.00 Hard border, with color black or brown color. Glass type.; 146 Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen piece 2 300.00 600.00 147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber			pcs	45	29.00	1,305.00
Folder, Sliding, Plastic, w/ Binder, A4, Transparent	140		piece	30	30.00	900.00
Transparent	141	Folder, Pressboard, US, Yellow, Long	pieces	220	30.00	6,600.00
143 Folder, Sliding, Plastic, w/ binder, Long, transparent pcs 97 10.00 970.00	142	Folder, Sliding, Plastic, w/ Binder, A4,	niono	156	10.00	1 560 00
143 transparent pcs 97 10.00 970.00	142	Transparent	piece	130	10.00	1,360.00
144 Folder, Sliding, Plastic, w/ binder, Short, transparent pcs 24 9.00 216.00 145 Frame, for certifcates, A4 size pcs 20 380.00 7,600.00 Hard border, with color black or brown color. Glass type.;	4.42	Folder, Sliding, Plastic, w/ binder, Long,	200	07	10.00	070.00
144 transparent pcs 24 9.00 216.00 145 Frame, for certifcates, A4 size pcs 20 380.00 7,600.00 Hard border, with color black or brown color. Glass type.; gcs 3 80.00 240.00 146 Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen pcs 3 80.00 240.00 147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber Color: Random Color 2 300.00 600.00 Size: 30 (cm)* 19 * (cm) x 7.5 (cm) pcs 6 355.00 2,130.00 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpo	143	transparent	pcs	97	10.00	970.00
144 transparent pcs 24 9.00 216.00 145 Frame, for certifcates, A4 size pcs 20 380.00 7,600.00 Hard border, with color black or brown color. Glass type.; gcs 3 80.00 240.00 146 Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen pcs 3 80.00 240.00 147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber Color: Random Color 2 300.00 600.00 Size: 30 (cm)* 19 * (cm) x 7.5 (cm) pcs 6 355.00 2,130.00 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpo	444	Folder, Sliding, Plastic, w/ binder, Short,		0.4	0.00	040.00
145 Frame, for certifcates, A4 size pcs 20 380.00 7,600.00 Hard border, with color black or brown color. Glass type.;	144		pcs	24	9.00	216.00
Hard border, with color black or brown color. Glass type.;	145	Frame, for certificates, A4 size	pcs	20	380.00	7,600.00
Glass type.;						,
146 Gas Lighter Igniter Refillable Butane Gas Lighters Multi-purpose for Kitchen pcs 3 80.00 240.00 147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber Color: Random Color Size: 30 (cm)* 19 * (cm) x 7.5 (cm) 2 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00						
Lighters Multi-purpose for Kitchen				_	22.22	0.40.00
147 Glass Wiper piece 2 300.00 600.00 Material: PP + sponge + silicone rubber Color: Random Color Size: 30 (cm)* 19 * (cm) x 7.5 (cm) 2 355.00 2,130.00 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00	146		pcs	3	80.00	240.00
Material: PP + sponge + silicone rubber Color: Random Color Size: 30 (cm)* 19 * (cm) x 7.5 (cm) 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00	147		piece	2	300.00	600.00
Color: Random Color Size: 30 (cm)* 19 * (cm) x 7.5 (cm) 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00			F.300		200.00	300.00
Size: 30 (cm)* 19 * (cm) x 7.5 (cm) 148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00						
148 Glue Gun, Big (approx. 7x18x 28cm) pcs 6 355.00 2,130.00 149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00						
149 Glue Pen, Clear, 50mL tubes 6 25.00 150.00 150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00	1/12		nce	6	355.00	2 120 00
150 Glue Stick, All-purpose, at least 21g pcs 22 55.00 1,210.00 151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00			-			
151 Glue Stick, Big, for Glue Gun pieces 70 10.00 700.00 152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00		· · ·	1			
152 Glue, Multi-Purpose, White, at least 130g (118mL) btls 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00						
152 (118mL) btts 95 78.00 7,410.00 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00	131		pieces	70	10.00	700.00
(118mL) 153 Glue, White, All-purpose, 1 gallon gallons 3 510.00 1,530.00 154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00	152		btls	95	78.00	7,410.00
154 Guntucker, 6-14mm, heavy duty pcs 2 2,500.00 5,000.00 155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00	450	` '				
155 Hand Sprayer, plastic, 300 ml cap. pieces 10 150.00 1,500.00 156 Hand Towel, cloth, cotton piece 19 35.00 665.00			•			
156 Hand Towel, cloth, cotton piece 19 35.00 665.00						
·						
157 Hand Towel , cloth , cotton , 12 pcs/pack pack 14 258.00 3,612.00						
	157	Hand Towel, cloth, cotton, 12 pcs/pack	pack	14	258.00	3,612.00



158	Headset with Noise Cancelling Mic, High-End	nc	1	5,000.00	5,000.00
	Index Tab, PVC self adhesive 6" x 1",	рс	ı	3,000.00	5,000.00
159	25pcs/box	set	45	78.00	3,510.00
160	Index Tab, PVC self adhesive 6" x 1/2", 25packs/box, Clear	box	10	850.00	8,500.00
	■Transparent Extension: 1/2"				
	Color: Clear (no color) ©Color: Clear (no color)				
	■1 box contains 25 packs.				
	■1 pack contains 2 pcs.				
	Index Tab, transparent, self-adhesive,				
161	transparent, 5sets/box	boxes	65	65.00	4,225.00
162	Ink, for stamp pad, violet, 30mL, w/ applicator	btls	28	35.00	980.00
163	Ink, Refill, for Permanent Marker, Black, 30mL	btls	31	115.00	3,565.00
164	Ink, Refill, for Permanent Marker, Blue, 30mL	btls	15	115.00	1,725.00
165	Ink, Refill, for Permanent Marker, Bide, 30mL	btls	2	115.00	230.00
	Ink, Refill, for Whiteboard Marker, Black,	มแร		113.00	230.00
166	30mL	btls	36	165.00	5,940.00
167	Ink, Refill, for Whiteboard Marker, Blue, 30mL	btls	14	165.00	2,310.00
168	Ink, Refill, for Whiteboard Marker, Red, 30mL	btls	10	165.00	1,650.00
169	Ink. EPSON T9481 XL for WF-C878R Printer, Yellow	tube	2	1,500.00	3,000.00
170	Key Cabinet with key chains and safety lock	рс	1	5,000.00	5,000.00
	Holds at least 60 keys				
	Made of aluminum steel				
	Comes with key chains for easy organization				
	Can be locked for security				
	Includes plastic tox and screws for easy installation				
171	Kitchen paper towel	pack	15	45.00	675.00
172	Laminating Film, 9 inch x 50 m, 250 miccrons	rolls	3	1,050.00	3,150.00
	■Thickness: 250 microns				
	■Width: 9 inches (23cm approx.)				
	■Length: 5,000cm (50 meters)				
	■Strong, versatile and lightweight and ideal for use with all types of print				
	■Low melt adhesive coating inside.				
	■Good resistance to scuff, scratch and tear				
	■Gloss finish				
173	Laminating Film, A4, 100 shts/box, 250 microns	boxes	8	1,430.00	11,440.00
	Lever Arch File Folder, Horizontal, with Ring				
174	Binder & Metal Finger Pull, Size: 3", Long (Black)	pcs	130	140.00	18,200.00
175	Lever Arch File Folder, Vertical, with Ring Binder & Metal Finger Pull, Size: 3", A4 (Black)	pcs	50	140.00	7,000.00
176	Lever Arch File Folder, Vertical, with Ring Binder & Side Metal Finger Pull, Size: 3", Long (Blue)	piece	14	140.00	1,960.00
177	Liquid Hand Soap	gallon	27	500.00	13,500.00
	Magazine Box / Data File Box / Datafiler,	ganon		555.55	10,000.00
178	horizontal, made of chipboards, closed ends, Legal (Double)	pcs	103	195.00	20,085.00
179	Magazine Box / Data File Box / Datafiler, horizontal, made of chipboards, closed ends, Legal (JUMBO)	рс	82	150.00	12,300.00
180	Magazine Box / Data File Box / Datafiler, horizontal, made of chipboards, closed ends,	pcs	114	100.00	11,400.00

Bidding No.: VSU-GOODS-23-05 Bidding Title: Supply and Delivery of Office and Janitorial Supplies and Other General Merchandise Products Location of the Project: VSU Main, Visca, Baybay City Leyte

	Legal (Single)				
181	Magfile double, black, legal	pcs	20	260.00	5,200.00
182	Masking Tape, 1"	rolls	27	60.00	1,620.00
183	Memo Notebooks, 60 leaves	pieces	12	22.00	264.00
184	Memo Notebooks, 80 leaves	pieces	2	29.00	58.00
185	Meter Stick, wood	pcs	1	60.00	60.00
400	Meter Stick, wood, 100 cm, yellow		40	450.00	4.500.00
186	background w/ black markings	pieces	10	150.00	1,500.00
	Mop Handle, aluminum, screw type, heavy				
187	duty, at least 4 ft long	pieces	1	500.00	500.00
188	Mop Handle, steel	pieces	1	150.00	150.00
189	Mop Rug, Heavy Duty, 100% cotton	pieces	31	90.00	2,790.00
	Morocco board, A4, 100pcs/ream, 230 gsm,	piccoc			•
190	for cover, white	ream	3	450.00	1,350.00
	Morocco board, A4, 100pcs/ream, 230 gsm,				
191	for cover,beige	ream	1	450.00	450.00
	Morocco board, A4, 100pcs/ream, 230 gsm,				
192	for cover, blue	ream	2	450.00	900.00
193	Morocco board, A4, 100pcs/ream, 230 gsm,	ream	3	450.00	1,350.00
104	for cover,cream	m a -l	40	050.00	
194	Mouse Pad, Rubber	pad	18	250.00	4,500.00
	Size: Small (200x250mm) State (200x250mm)				
	Color: Black/ Dark Blue				
195	Multi-Purpose Glue, 1000g	btl	1	450.00	450.00
196	Multi-Purpose Glue, 130g	btl	38	60.00	2,280.00
197	Multi-Purpose Cleaner, Liquid, 1000mL, any	btls	7	205.00	1,435.00
131	scent	Dus			1,433.00
198	Multi-purpose Plastic Tray, Big/Large	pieces	5	120.00	600.00
199	Multi-purpose Plastic Utility Tray	pcs	3	50.00	150.00
200	Muriatic Acid concentrated scented	gal	11	350.00	3,850.00
201	My-Gel Gel Ink Pen refill 0.5mm, Blue	piece	25	25.00	625.00
	Neon Colored Paper assorted 250sheets per		_		
202	pack	pack	3	150.00	450.00
	Colored Paper				
	*Quantity: 250 sheets per ream				
	*Color: Assorted Neon colors				
	*Size : Short 8.5x 11				
	*High Quality paper				
203	Net bags, fish net, 13" x 13"	nc	150	20.00	3,000.00
204	Non-stick pan, original 34cm diameter, deep	pc	1	2,000.00	2,000.00
204		рс	ı	2,000.00	2,000.00
	Non-stick,				
	Includes Lid (glass)				
	Dishwasher Safe	1			
	Induction Safe	1			
	Pour Spout	1			
	Helper Handle,\				
	PFOA Free				
	Eco-Friendly				
	Enameled				
	Oven Safe				
	Cookware Compatibility: Halogen, Infrared,				
	Electric, Induction Ready, Gas Range				
	15 cm height (deep)				
	good quality				
	durable	+			
205	Nylon Twine 1 kg white	roll	4	75.00	300.00
206	Nylon, #300, for grass cutter	kl			
			57	450.00	25,650.00
207	Oil, for typewriter, all purpose, 130 ml	btls	1	180.00	180.00
208	Original Portable Electric Kettle Water Heater	рс	2	500.00	1,000.00



	1.2L				
	1.2 Liters Capacity				
	Durable Plastic Housing				
	Automatic Power Shut OFF				
	With Boil Dry Protection Switch				
	1000WATTS				
	Material : High Quality Food Grade Plastic				
	(SAFE				
209	Pail, Plastic, 10 li cap.	pieces	3	200.00	600.00
	Pail, Plastic, 5 gallons cap. Measurement at				
210	least L35.3xW32.3xH33cm	pieces	2	290.00	580.00
044	Pail, Utility, Plastic 168 liter cap/drum/water		0	4 000 00	0.000.00
211	container	pieces	2	1,600.00	3,200.00
212	Paper Board, 180gsm White LONG, 50sheets	nook	1	250.00	250.00
212	per packs	pack	ı	250.00	250.00
213	Paper Cutter HD, size 15x12", brown	pieces	1	900.00	900.00
214	Paper Cutter Knife, 6" steel blade, plastic	pcs	7	150.00	1,050.00
	handle, good quality	pos	,	130.00	1,000.00
215	Paper Cutter, Sliding, for A3, with metal base,	unit	2	6,800.00	13,600.00
	replaceable blades			·	<u>, </u>
216	Paper Cutter, wood, A4 size	piece	2	625.00	1,250.00
217	Paper Cutter, Wooden, 18" x 15" (A3)	pcs	1	2,500.00	2,500.00
040	guillotine paper cutter 18" (wooden cutter);			050.00	050.00
218	Paper Laid A4, 90 gsm White	boxes	1	850.00	850.00
219	Paper, Art, glossy, assorted colors,	reams	2	235.00	470.00
220	500shts/ream	roomo	25	466.00	11 650 00
220	Paper, Bond, A3, S-20, 70 gsm	reams	25	466.00	11,650.00
221	bright white, high premium quality; Paper, Bond, A3, S-24, 80 gsm	roome	5	580.00	2,900.00
221	bright white, high premium quality;	reams	5	360.00	2,900.00
	Paper, Bond, Colored, Long, S-16, 56gsm,				
222	Green	reams	1	315.00	315.00
	Paper, Bond, Colored, Short, S-16, 56gsm,		_		
223	Green	reams	1	264.00	264.00
004	Paper, Bond, Colored, Short, S-16, 56gsm,		4	004.00	004.00
224	Yellow	reams	1	264.00	264.00
225	Paper, Bond, Short, S-20, 70 gsm	reams	43	245.00	10,535.00
	bright white, high premium quality;				
226	Paper, Bond, Short, S-24, 80 gsm	reams	40	277.00	11,080.00
	bright white, high premium quality;				
227	Paper, Fluorescent orange 18 x 24	pieces	10	30.00	300.00
228	Paper, Laid 8 x 11 90gsm Peach	boxes	5	850.00	4,250.00
229	Paper, Laid 8 x 13 90gsm Ivory	boxes	5	1,415.00	7,075.00
230	Paper, Manila	pcs	310	6.00	1,860.00
231	Paper, Mimeo, GW, A4, S-18	reams	15	150.00	2,250.00
232	Paper, Mimeo, WW, A4, S-20	ream	36	220.00	7,920.00
233	Paper, Mimeo, WW, Long, S-18	reams	70	218.00	15,260.00
234	Paper, Mimeo, WW, Long, S-20	reams	3	228.00	684.00
235	Paper, Parchment, A4, cream, 100	pads	3	70.00	210.00
236	Paper, Parchment, A4, cream, 100 sheets/pack	pack	5	500.00	2,500.00
	Paper, Photo, high gloss, A4, 230G, 20			+	
237	shts/pack	pack	95	250.00	23,750.00
	Paper, Photo, matte finish, 146GSM, 10			+	
238	shts/pack	pack	35	75.00	2,625.00
	Paper, Specialty 200gsm 8-1/2x11, 10s,		400	22.22	45 50 1 00
239	Cream	packs	408	38.00	15,504.00
240	Paper, Specialty 200gsm 8-1/2x11, 10s,	nacks	10	20.00	404.00
240	White	packs	13	38.00	494.00



241	Paper, Specialty 200gsm 8-1/2x11,10s, Nashville	packs	2	38.00	76.00
242	Paper, Towel, Interfolded , 1 ply, 175 pulls	pack	5	75.00	375.00
243	Pen Sign 0.7mm Gel type, blue	рс	52	49.00	2,548.00
244	Pen, Permanent Marker, black, broad tip	pieces	51	60.00	3,060.00
245	Pen, Permanent Marker, black, fine tip	pieces	67	60.00	4,020.00
246	Pen, Permanent Marker, blue, broad tip	pieces	22	60.00	1,320.00
247	Pen, Permanent Marker, blue, fine tip	pieces	64	60.00	3,840.00
248	Pen, Permanent Marker, green, fine tip	pieces	7	60.00	420.00
249	Pen, Permanent Marker, red, broad tip	pieces	15	60.00	900.00
250	Pen, Permanent Marker, red, fine tip	pieces	22	60.00	1,320.00
251	Pen, Ball, black	pieces	276	10.00	2,760.00
252	Pen, Ball, blue	pieces	1112	10.00	11,120.00
253	Pen, Ball, red	pieces	134	10.00	1,340.00
254	Pen, Highlighter, orange	pieces	33	46.00	1,518.00
255	Pen, Highlighter, violet	pieces	6	47.00	282.00
256	Pen, Highlighter, yellow	pieces	104	45.00	4,680.00
257	Pen, Highlighting, asstd color	pcs	36	25.00	900.00
258	Pen, Pentel Pen-delete, Permanent, Fine blue (2 pcs) & black (2 pcs)	pcs	4	50.00	200.00
259	Pen, Permanent Marker, JUMBO black	pieces	1	120.00	120.00
260	Pen, Permanent Marker, JUMBO green	pieces	1	120.00	120.00
261	Pen, Permanent Marker, JUMBO red	pieces	1	120.00	120.00
262	Pen, Whiteboard Marker, red	pieces	53	50.00	2,650.00
263	Pen, Whiteboard Marker, black	pieces	236	50.00	11,800.00
264	Pen, Whiteboard Marker, blue,	pieces	61	50.00	3,050.00
265	Pencil, Charcoal	pieces	5	100.00	500.00
266	Pin, Map, round head, asstd. Color	boxes	2	35.00	70.00
267	Pin, Push, hammerhead type, asstd colors 50s/box	boxes	22	35.00	770.00
268	Plastic bag (sando bag) 100pcs/pack large	pack	6	95.00	570.00
269	Plastic bag (sando bag), jumbo size, 100 pcs/pack	pack	5	185.00	925.00
270	Plastic bag (sando bag)100 pc./pack medium	pack	5	65.00	325.00
271	Plastic pail, 15 liter capacity	pcs	10	250.00	2,500.00
272	Plastic Straw Rope, Heavy Duty, at least 200m, Flat Film Packing Rope for Cardboard Boxes	рс	5	180.00	900.00
273	Plastic Twine, 1kl/roll	rolls	8	110.00	880.00
274	PVC Binding Cover, short, 100pcs/pack	pack	1	550.00	550.00
275	PVC Plastic Cover 100pcs per Pack A4 size 0.2mm	packs	7	750.00	5,250.00
276	PVC Plastic Cover 100pcs per Pack A4 size 0.2mm	packs	6	500.00	3,000.00
277	Rag, (for cleaning & wiping)	pieces	20	5.00	100.00
278	Rags, large, good quality, size 24"x15", water absorbent	pcs	20	40.00	800.00
279	Record Book, 200 Pages	piece	12	90.00	1,080.00
280	Ribbon, Satin Cloth, Yellow/Gold, 2"	rolls	10	300.00	3,000.00
281	Ring Binder, plastic, 10mm, 3/8" black	pieces	23	10.00	230.00
282	Ring Binder, plastic, 14mm, 9/16" black	pieces	20	15.00	300.00
283	Ring Binder, plastic, 20mm, 3/4" black	pieces	45	22.00	990.00
284	Ring Binder, plastic, 22mm, 7/8" black	pieces	10	27.00	270.00
285	Ring Binder, plastic, 25mm ,1" black	pieces	41	30.00	1,230.00
286	Ring Binder, plastic, 38mm , 1-1/2" black	pieces	28	46.00	1,288.00
287	Ring Binder, plastic, 51mm 2" black	pieces	13	55.00	715.00
288	Ring Binder, plastic, 6mm, 1/4" black	pieces	10	8.00	80.00
289	Ring Binder, plastic, 8mm, 5/16" black	pieces	20	8.00	160.00
290	Ring Binder, plastic,12mm, 1/2" black	pieces	23	12.00	276.00
		F.0000		00	0.00



291	Ring Binder, plastic,14mm, 5/8" black	pieces	10	18.00	180.00
	Rolled Paper Towel, 2 plys good gity (Jumbo				
292	Towel)	rolls	50	88.00	4,400.00
	■2 Ply				
	■at least 70 pulls or 140 Sheets				
	■Sheet size: at least 275mm x 230mm				
	■No artificial whiteners & elemental chlorine				
293	Rubber sponge, round	pieces	8	13.00	104.00
294	Ruler, Plastic, 12"	pieces	35	15.00	525.00
295	Ruler, Plastic, 24"	pieces	18	35.00	630.00
296	Scissors, 8" heavy duty, good quality	pieces	48	75.00	3,600.00
297	Scotch-delete Transparent Tape, 50m 1/2"	pcs	35	30.00	1,050.00
298	Scouring Pad, custom size scouring roll 60cm width	roll	1	3,000.00	3,000.00
	Green scouring pad (in roll)				
	10 meters/roll				
	Good quality				
	Custom size (60cm or 2ft width)				
	Scouring Pad, big economy size, good				
299	quality	pieces	20	50.00	1,000.00
300	Scrub Sponge, Heavy Duty	pcs	20	60.00	1,200.00
	■Size: at least 100mm x 75mm x 30mm;				
301	Sign Here Sticky Notes	pack	116	59.00	6,844.00
302	Sign pen, Fine Tech, 0.3mm. blue	pieces	140	30.00	4,200.00
303	Soap, Detergent, Bar, at least 350g, any scent	bar	5	38.00	190.00
304	Soap, Detergent, Liquid, 1 gal, any scent	gal	28	350.00	9,800.00
305	Soap, Dishwashing Liquid Refill, 375ml	packs	14	200.00	2,800.00
222	Antibacterial Concentrate Dishwashing Liquid	1.41		4.50.00	
306	Soap, Dishwashing, Liquid, 250mL	btls	205	150.00	30,750.00
307	Soap, Hand, 60g per pack	packs	65	25.00	1,625.00
308	Soap, Toilet , guest size	pieces	45	15.00	675.00
309	Soap, Toilet, regular size	pieces	102	35.00	3,570.00
	at least 60 grams eliminates at least 99% of bacteria				
310	Specialty Board, long 8-1/2 x 13, 220 gsm, Cream (10pcs/pack)	pack	26	85.00	2,210.00
311	Specialty board, short 8-1/2 x 11, 120 gsm, green (10pcs/pack)	pack	10	65.00	650.00
312	Specialty board, short 8-1/2 x 11, 120 gsm, light pink (10pcs/pack)	pack	10	65.00	650.00
313	Specialty board, short 8-1/2 x 11, 120 gsm, white (10pcs/pack)	pack	10	65.00	650.00
314	Specialty paper Dynamics 8-1/2x13 220gsm Pearl	packs	5	85.00	425.00
315	Specialty Paper Dynamics 8-1/2x13 220gsm Skytone	packs	3	85.00	255.00
316	Specialty Paper, long, 8-1/2 x 13, 220gsm, color: cream (10pcs/pack)	pack	5	65.00	325.00
317	Specialty, board, long 8-1/2 x 13, 220 gsm, white, vellum, 10pcs/pack	pack	3	85.00	255.00
318	Spin Mop, w/ stainless steel wringer bucket, w/ durable & ergonomical PP plastic mop handle, 360deg. spin microfiber mop head, 180deg. flexible mop pole	pcs	9	1,500.00	13,500.00
319	Sponge (plato)	nce	15	10.00	150.00
320	Sprinkler, plastic 3 liters	pcs pieces	10	600.00	600.00
321	Staple Wire, #10	boxes	18	15.00	270.00
322	Stapler Flat clinch Standard Half strip	piece	2	700.00	1,400.00
JZZ	SPECIFICATIONS	piece	۷	700.00	1,400.00
	SECIFICATIONS	j			



	- -				
	- Product name: HD-50F-delete				
	- Staples:24/6(No.3), 26/6(No.35)				
	- Stapling capacity:30 sheets(64gsm) / 24				
	sheets(80gsm)				
	- Loading capacity:50 staples(24/6), 100				
	staples(26/6)				
	- Dimensions: W40 x D135 x H60(mm)				
	- Weight(Net): 270g				
	- Insertion depth: 47mm				
	- Carton Quantity:1/5/50				
	- Product Color: Black or Dark Blue				
	- Built-in staple remover.				
	FEATURES				
	Flat Clinch				
	Enable to bend the staple ends flat without				
	deforming the clinched staple. Papers stack				
	neatly and evenly.				
	Ergonomic design				
	Comfortable rubber surface is a perfect fit for				
	any gripping style.				
323	Stapler, HD-# 10	pieces	10	100.00	1,000.00
324	Stapler, HD-# 10	pieces	18	120.00	2,160.00
	Stapler, Heavy Duty, 23/6-23/23 (210 sheets),				
325	Black	pcs	4	1,500.00	6,000.00
	210 sheets stapling capacity, durable all-metal				
	components, full 2-5/8" throat depth				
	Sticker Paper, high gloss A4 size, 50				
326	sheets/pack	pack	11	155.00	1,705.00
	Sticky Flags, Repositionable Indexing Tab,				
327	45x12mm, (20 sheets x 5 colors)/pack	pack	173	40.00	6,920.00
	Sticky Flags Suitable For/As:				
	■Indexing Tab				
	■Highlighting				
	■Marking				
	■Repositionable				
	■One end straight-cut, One end arrow-shaped				
	■Can be used to show/indicate where to attach				
	signature				
	Sticky Index Tabs, Writable Colored Flat				
328	Arrow Page Markers Flags for File Notes	pack	31	146.00	4,526.00
	STICKY NOTE PAGE 1/2X2IN set with				
329	assorted color	set	3	200.00	600.00
	Attr: Page Marker				
	Color: 5 Colors				
	Size:1/2X2"				
	Packaging Size: 500 markers per pack				
330	Sticky Note, 3 x 5, Yellow	nada	87	150.00	13,050.00
331	Sticky Note, 3 x 5, Yellow Sticky Note, 3 x 5 Colored	pads pads	50	50.00	2,500.00
332	Storage box, Plastic, 187L		25	900.00	22,500.00
333		pc	25 14		1,400.00
333	String Doormat/Rug/Basahan	pieces	14	100.00	1,400.00
	Product Description Size (LyM): 21 x 15 inch				
	Size (LxW): 21 x 15 inch				
	Rugs in assorted printed colors and designs				
	Mandy made with high quality				
	©Cotton		_		
334	Super Adhesive Glue, clear	tubes	2	40.00	80.00
335	Table Fork, Stainless steel, 1 doz	dozen	7	205.00	1,435.00
336	Table Spoon, Stainless steel	dozen	7	205.00	1,435.00
337	Tape, Double Sided, 1" x 10m	rolls	95	35.00	3,325.00

Bidding No.: VSU-GOODS-23-05 Bidding Title: Supply and Delivery of Office and Janitorial Supplies and Other General Merchandise Products Location of the Project: VSU Main, Visca, Baybay City Leyte

338	Tape, Double Sided, 2" x 10m	rolls	83	70.00	5,810.00
339	Tape, Double Sided, 3/4" x 10m	rolls	35	26.00	910.00
340	Tape, Duct, 2" x 25m, Black/Grey	rolls	38	180.00	6,840.00
341	Tape, Foam, Double Sided, 1" x 5m	rolls	40	100.00	4,000.00
342	Tape, Magic, 12mm x 50m	rolls	1	196.00	196.00
343	Tape, Masking, 1/2" x 25 yards	rolls	20	25.00	500.00
344	Tape, Masking, 3/4" x 25 yards	rolls	29	36.00	1,044.00
345	Tape, Packaging, 2" x 100 yards, Clear	rolls	17	75.00	1,275.00
346	Thumb Tacks, Small Box	boxes	32	12.00	384.00
347	Tissue, Bathroom, 2 Ply, 12rolls/pack	pack	155	204.00	31,620.00
348	Toilet Bowl Cleaner, at least 1 gallon	gal	22	395.00	8,690.00
349	Toilet Bowl Cleaner, at least 1 liter	btl	18	250.00	4,500.00
350	Toilet Brush with Holder	set	13	180.00	2,340.00
351	Translucent Vellum Paper 140gsm, A4 size,	pack	3	150.00	450.00
	140 gsm, inkjet printable	of 10's	3		
	Product: Vellum Translucent Paper				
	Size: 8.25 x 11.75 inches (A4)				
	Quantity: 10 sheets per pack				
	140 GSM				
	inkjet printable				
352	Trash Bag (Garbage Bag), Large (15x15x37	pack	32	56.00	1,792.00
332	inches), 10pcs/pack, Black	pack	٥∠	30.00	1,132.00
353	Trash Bag (Garbage Bag), Medium (13x13x32	pack	10	40.00	400.00
	inches), 10pcs/pack, Black	Paran	. •		
354	Trash Bag (Garbage Bag), Small (11x11x24	pack	20	25.00	500.00
	inches), 10pcs/pack, Black	p s.c.			
355	Trash Bag (Garbage Bag), X-Large	pack	16	85.00	1,360.00
	(18.5x18.5x40 inches), 10pcs/pack, Black		-		
356	Universal Ink - black (1 liter)	btl	2	450.00	900.00
357	Universal Ink - CYAN (1 liter)	btl	2	450.00	900.00
358	Universal Ink - MAGENTA (1 liter)	btl	2	450.00	900.00
359	Universal Ink - YELLOW (1 liter)	btl	2	450.00	900.00
360	Vellum Board, Canary, A4, 220 GSM, 10	pack	8	60.00	480.00
	sheets per pack	of 10's			
	Size: 8.25 x 11.75 inches (A4)				
	Color: Canary				
	Quantity: 10 sheets per pack				
	220 GSM				
361	Vellum Board, Canary, Long, 220 GSM, 10	pack	3	70.00	210.00
	Sheets per pack	of 10's			
-	Product: Vellum Board				
-	Size: 8.5 x 13 inches (Long) Color: Canary				
	Quantity: 10 sheets per pack				
	220 GSM				
	Vellum Board, Pale Cream, A4, 220 GSM, 10	pools			
362	sheets per pack	pack of 10's	3	60.00	180.00
	Product: Vellum Board	01 10 8			
-	Size: 8.25 x 11.75 inches (A4)				
	Color: Pale Cream				
 	Quantity: 10 sheets per pack				
	220 GSM				
	Vellum Board, Pale Cream, Long, 220 GSM,	naak			
363	10 sheets per pack	pack of 10's	3	70.00	210.00
	Product: Vellum Board	01 10 8			
	i Froduct, velidiri DOATO				
				l l	
	Size: 8.5 x 13 inches (Long)				
	Size: 8.5 x 13 inches (Long) Color: Pale Cream				
	Size: 8.5 x 13 inches (Long)				



	T	1			
364	Vellum Board, White, Size: 8.5" x 11" (Letter),	packs	9	50.00	450.00
	180gsm, 10pcs/pack	paono			
365	Wall Clock	рс	2	800.00	1,600.00
	■Diameter: 215 mm				
	■Weight: 250 g				
	■Depth: 40 mm				
	■Display: Analog				
	■Battery Type: AA				
	■Case Material: Plastic ■ Case Material: Plastic				
	■Shatterproof				
366	Water Dipper (Tabo)	рс	12	45.00	540.00
367	Wax Paper, at least 23m x 30cm	rolls	1	240.00	240.00
368	Wax, Floor, paste type, colorless, 450g/can	cans	2	170.00	340.00
369	Wet and dry vacuum cleaner	рс	2	5,000.00	10,000.00
370	White Mailing Envelope, Long, 9-1/2 x 4-1/8	pcs	50	1.00	50.00
371	Whiteboard, Wall Mount, 2' x 3', w/ aluminum		3	880.00	0.040.00
3/1	frame	pcs	3	000.00	2,640.00
372	Whiteboard, Wall Mount, 3' x 5', w/ aluminum	pcs 3	2 100 00	6,300.00	
3/2	frame	pcs	3	2,100.00	0,300.00
373	Wireless Microphone	set	7	5,500.00	38,500.00
	Carrier Frequency: UHF 613 - 870MHz				
	Frequency Steadying: -0.002-				
	Modulating Mode: FM				
	Audio Dynamic Range: Over 70 dB				
	Audio Frequency Responses: 100Hz - 15KHz				
	Audio Output Level: 0 - 280mV				
	S/N Ratio: Over 70bdB				
	T.H.D: -0.5-				
	Sensitivity: 3uVFor30dBS/N				
274	Yarn, Ply Milk Cotton Yarn Cotton Chunky	uall.	•	20.00	00.00
374	Hand-woven Crochet Knitting Wool Yarn	roll	3	20.00	60.00
375	Universal socket adapter	pcs	2	34.00	68.00
		·		TOTAL:	1,165,742.00

DILBERTO O. FERRAREN

BAC Chairman